TR29%F 8H6H L - R (1 BFRE E)
(BAST: A—FJL)
A

B [K=8 |98 [iES HEE |EFRR | EH |RiE A5 XM #HE FH FHS [k I

1| 3 ENE cl 1 sw| 1 E| 4 E[ 3 E[ 3 E| 1 NE| 2 SSE[ 1 Wl 2 SE| 3 SSE| 1 SSE| 1 ESE[ 3 E
2| 3 NE[ 1 SSE| 1w 3 E[ 2 NNE| 3 NNE| 1 Nw| 1 SSE| 1 wsw| 2 s| 4 SE| 2 E| 2 SE| 4 E
3| 4 ENE cl 2 SE| 1 SE[ 5 E[ 3 NE| 2 NNE| 1 ENE| 1 S W| 4 SSE| 4 SSE| 4 ENE| 3 SE[ 4 ESE
4| 3 ENE sw| 2 N| 2 ENE| 4 ESE| 2 ENE| 4 N| 2 ssw| 2 S| 2 WSW| 2 SE| 2 SE| 4 NE| 2 ESE| 4 E
5| 3 ENE| 2 w| 1 wSw| 3 NE| 4 ESE| 4 NNE| 4 NNE| 1 SSE[ 2 SSE| 2 NE| 2 SSE| 5 ESE| 4 NE| 1 ESE| 5 E
6] 3 ENE WSW| 2 SSW| 2 ENE| 5 E[ 3 NE| 4 N SSE| 1 SE| 1 NE| 2 ESE| 5 ESE| 2 NE| 2 SE| 4 E
7] 4 NE| 4 ENE| 2 WNW WNW| 3 ENE| 2 NE| 4 N| 1 NNE| 2 SE c| 1 NE| 7 ESE| 3 ENE| 2 SE[ 4 E
8| 4 NE| 5 ENE| 2 SSW| 2 ESE| 1 ENE| 2 NE| 6 N| 1 NE| 1 SSE[ 3 N| 1 E| 5 ESE| 2 SSE[ 3 SE| 4 E
9] 4 ENE| 5 ENE| 4 Nw| 3 NE| 2 ESE| 3 ENE| 6 N| 2 NNE| 2 SE| 2 2 s| 5 ESE[ 3 E| 2 E[ 5 E
10/ 5 NE| 6 ENE| 2 N| 5 NE| 2 NNE| 3 NE| 3 ENE| 2 NE| 3 ENE| 1 WSW| 1 NNW| 6 ESE| 3 E[ 2 5 E
11 5 NE| 5 ENE| 5 ENE| 6 NNE| 2 E[ 2 ENE| 5 E| 2 ENE| 2 ENE| 2 SSwW| 5 s| 4 E[ 4 3 E[ 7 E
12| 5 NE| 5 ENE| 4 NE| 6 NNE| 2 ESE| 3 SE[ 6 E| 4 NE| 2 ENE| 4 NEJ10 SSE| 3 SSE| 3 Sw| 4 SE| 5 E
13| 4 NE| 6 ENE| 5 NE[ 5 NE| 3 SE| 1 SSW| 3 NNW| 1 ENE| 3 ESE| 1 WSW| 2 ESE| 2 S| 4 NE| 2 E[ 6 E
14| 4 NE| 6 ENE| 1 SSE[ 2 E| 2 SSE| 5 ESE| 5 ESE| 1 SE| 4 ESE| 3 N| 3 NE| 4 E| 6 NE| 3 ESE[ 6 E
15| 2 ENE| 2 ESE| 2 S| 2 Nw| 3 ssw| 2 ESE[ 3 NE| 4 ENE| 2 SE| 3 N| 4 NNE| 3 ENE| 5 ENE| 4 E[ 6 E
16 3 E[ 1 s| 2 S| 1 NNE| 4 SSE| 4 E| 5 ENE| 4 ENE| 4 ESE| 3 NNE| 4 N| 6 E| 6 ENE| 4 E| 6 E
17] 4 ENE| 1 ESE| 1 SE| 4 SSE| 4 E[ 4 NE| 4 NE| 6 ENE| 3 ESE| 5 NE| 3 NNE| 6 E| 8 NE| 4 ESE[ 5 E
18| 4 ENE| 2 ENE| 2 NW| 2 ENE| 2 E[ 2 NE| 3 NE| 7 ENE| 3 ESE| 4 NNE| 4 NE| 6 E| 9 ENE| 2 SE| 5 E
19] 3 NE[ 6 E| 1 S| 3 SE[ 5 E| 2 NNE| 3 ENE| 5 ENE| 3 ESE| 3 N| 3 NNE| 5 E[ 9 NNE| 3 E[ 7 E
20| 3 ENE| 5 ENE| 1 WSW| 3 NE| 3 ENE| 2 ESE| 4 NNE| 5 ENE| 3 SE| 3 NNE| 4 N| 5 NE| 5 NE| 3 E| 6 E
21| 3 NE| 6 ENE| 2 SSW| 5 ENE| 3 E[ 5 E[ 7 NNE| 4 ENE| 2 ESE| 2 NNE| 5 N| 6 E[ 7 NE| 3 E[ 8 E
22| 4 NE| 7 ENE| 4 NE| 6 NE| 4 E| 2 NNE| 2 ENE| 8 ENE| 4 ESE| 3 N| 5 NNE| 3 NNE| 9 NE| 4 E[ 7 E
23] 4 NE| 6 ENE| 2 E| 1 ESE| 3 E[ 2 NNW| 7 NNE| 7 ENE| 3 SE| 2 NNE| 5 NNE| 5 N| 10 NE| 4 E[ 6 E
24| 6 NE| 8 ENE| 2 ENE| 1 ESE| 5 E| 3 NNE| 8 NNE| 7 NE| 3 E| 3 NE| 6 NNE[ 4 NNE| 9 NNE| 2 E[ 5 ENE
Tyl 4 4 2 3 3 3 4 3 2 2 3 5 5 3 5
HSA| 6 NE| 8 ENE| 5 ENE| 6 NNE| 5 E| 5 ESE| 8 NNE| 8 ENE| 4 ESE| 5 NE[10 SSE| 7 ESE[10 NE| 4 SE| 8 E
HCBF [OBF OFF 118 118 klicd 148 OFF 2205 145 178 120 plic 230 128 210
FR29% 8ATH B - B (1 BFEE)

(B A—FJL)
0

B[ XK=8E |$#& [iES FEE |WEHRR | mal |REE 25 XM P FH FHES [k T

1] 6 NE| 7 ENE[ 3 ENE| 5 ENE| 5 E[ 3 E[ 9 NNE| 6 NE[ 3 E| 2 NE| 7 NNE| 5 Nl 9 NE| 5 E| 5 ENE
2| 6 NE| 9 ENE| 6 ENE| 6 ENE| 5 E[ 2 ENE| 9 NNE[ 7 NE| 3 E| 2 ESE| 6 NNE| 4 NNW| 6 N[ 2 NNE| 4 NE
3] 4 NE[ 7 NE| 3 E| 5 ENE| 6 E| 2 SSE|10 NNE| 6 NE| 2 ESE| 3 NNW| 5 NNE| 5 Nl 4 N[ 2 N| 2 NNW,
4/ 5 NE| 6 NE[ 5 NE| 7 ENE| 2 E| 2 ESE|10 NNE| 7 NE| 3 NW| 5 NNW| 4 NE| 5 N| 4 N[ 1 Nw| 4 NNW
5/ 5 NE| 7 NE| 8 NE| 4 ENE SE| 4 N|11 N| 9 NNE| 2 NW| 6 NNW| 5 N[ 5 NNW| 3 N[ 2 NNW| 6 NwW
6] 6 NE| 5 NE|10 NNE| 3 ENE C| 5 NNW| 13 N[ 6 NNE| 5 NNW| 6 NNW| 5 N| 5 N| 3 WNW| 3 W| 6 WNW,
7] 3 NNE| 3 NNE| 9 NNE| 4 NE| 1 NW| 5 N| 11 N| 6 N| 4 NNW| 5 N| 9 NNW[ 5 NNW| 7 WNW| 5  W| 5 WNW,
gl 4NNE | 3NNW| 9 NNE | 4 NE 2 SW 5NW [11N 5N 4 WNW| 3NNW| 9 NNW| 6 NW 6 WNW| 4 W 6 WNW
9| 4 NE 5NNW [ 10 N 7NNE [ 2 sw 6 NNW [ 12 NNW| 3 NNW| 5NNW | 4 N 10 NNW | 7 NW 8WNW| 5W 6 WNW
10

11

12

13

14
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24
Fiy| 5 6 7 5 3 4 11 6 3 4 7 5 6 3 5
£2x| 6NE 9ENE [1ONNE | 7ENE | 6 E 6 NNW [ 13 N 9 NNE [ 5 NNW | 6 NNW [ 10 NNW | 7 NW 9 NE 5E 6 NW
fons |10 28% 68F AB% Klic3 oR% 6fF 5B 6fF 5B Clic3 9B 185 185 5B%




